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' INSTRU.CTIONS FOR CAN.DIDATES

Please do not open’ this Question
Booklet until you are told to do so.

Candidate must fill up the necessary
information in the space provided
on the OMR Answer Sheet before
commencement of the test.

For marking the correct answer,
darken one circle by black or blue ball-
point pen only. Please do not mark on
more than one circle. Darkening on

more than one circle against an answer |

will be treated as wrong answer.

Do not detach any leaf from this
Question Booklet. After the ‘examina-
tion, hand -over separately the entire
Question Booklet and Answer Sheet to
the Room Invigilator.

Each question carries 2 marks. There
is no negative marking for any wrong

‘answer.

Possession and wuse of Calculator,
Mobile Phone and ‘Pager is prohibited
in the Examination Hall.

For any discrepancy in the translated
version of any question in Hindi, the

English version of the question will be

valid.

You should return ' the Question
Booklet to the Invigilator at the end
of the examination and should not
carry any paper with you outside the

Examination Hall. ’
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1.' Given :

‘ o Rs
- “SBubscription amount 10,000
. Subscription received A
for 2008 2,000
Subscription received in
- advance for 2010 o ! 500
Subscription outstanding
for 2009 3,000

What amount will be shown in
the Receipts and Payments
Account for 2009?

{a} Rs 9,000

(b} Rs 10500
(¢) Rs 12,000
(d) Rs 10,000

2. Chartered‘Accountants- are

—(a) :\.Amatguf}Auditorf s

(b) Government Auditor

(c) Proféssional Auditor’

* (d) None of ther

. Which of the followmg is based
on the pnnc1ples of dlwsmn of
labour" S 0

. (a) Intemal control

. g.(b) Internal checkmg

{7-B

(c) Intema.l audlt

(d) None of» the *above

- ‘(c) \, Recelpts and

- N M
} Y

4. Section 55 of the Companies Act;

1956 1s assoc1ated with

- j,(a) Memorandum of Assoc1at10n
" () Articles of Association
(c) Prospectus ‘

(d) Minute Book

. Which of the following is

prepared to ascertain the i income
of non—tradmg concern?

(a) Proﬁt and Loss Account

i ,(b} Balance Sheet

V Payments
" Account - . '

" (d) Income and Expenditure

Account

6. An expenditure is a revenue
o expen’diture ‘because

(a) it is related to the proﬁt at
current” penod

~(b) "vthe ‘amount is sma.ll

“(c) it is deducted from the gross

sale proceeds
(d) None. of the above

7 | Va.lue-ad_tied Ta.x ’is aj/an
(@ commodity tax
. () wealth tax
(c) "gift tax

(d) income%tax
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8.

9.

10.

11,

/7-B

Which of the following is not

the convention.of Management

Accounting?

(a) Management by ‘exception
(b) Principles .of key areas

(c) Span of control

(d) None of the above -

“An auditor is a watchdog and

not a bloodhound” was a remark

made in the case of .

v (a) the London Oil. Storage Co
Ltd., 1904

(b) the Kingston Cotton Mills

Ltd., 1896

(c the London and General
Bank, 1895

(d) the Royal Mail Steam
Packet 1932

From the date of registration, a
Public Limited Company must
issue prospectus within

(@) 30 days

(b) 60 days

(c) 90 days

- (d) 180 days

A company must hold its First

Annual General Meeting within a

period of - it

(a) 18 months from the date of
its incorporation

() 18 months from ‘commen-
cement of business \

() 6 months from the date of
entitlement to commence
business

(d) 12 months from the date of
‘its incorporation

-

"12.

13.

14,

18,

The maximum time lag between
two Annual General Meetings of
a company can be ’

{a) 12 months

(b) 15 months

() 18 months

(d) 20 months

Share capital of a company may
be reduced by

(a) a resolutlon of the Board of
Directors

(b) an ordinary resolution

(c) a special }esolution and
permission from Company
Law Board

(d) epern‘;lission . of  Company

‘Law Board

Line and Staff- Concept is taken
from

(@) Military Administration
(b) Management Science

(c) Business Administration
(d) British Administration

In the Companies 'Act, 1956,kthe
proforma of Balance Sheet is
given in

(a) Section 211
(b) Section 213
(c) Section 263
(d) Section 221
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~16.

If Opening stock is Rs 10,000,:Net

purchases—Rs 70,000, Wages—
Rs 2 ,500, Carriage inward—
Rs 500 and Closing stock—
Rs 15,000, which one of the
following is the” Mefchandmng
cost?

(@) Rs 65,000 .

i

" (b) Rs 83,000

17.

{c) .Rs 68,000
(d) Rs 73,000

Purchases equa.l to

; (a) Cost of goods sold + Closmg

. inventory ~ Opemng inventory .

(b) Cost of géods sold — Closing
inventory . + opening
, mventory ‘

} (c) Opening mventory + Closmg

18.

inventory  — Cost of ' goods
sold i

(d) None of thq »_\_abo\ve :

Given, Purchases—Rs 1,00,000,
Sales—Rs 1,80,000, = = Closing

- stock—Rs 14,000 and Manufac-

turing expenses—Rs 10,000.

. Which one of the following is the
~value of Opening stock if the rate

/7-B

of gross profit is 33 1% on cost?

(@) Rs 28,000

(b) Rs 39,000

(¢) Rs 37,000 -
(d) Rs 42,900 E

19,

20. V
: transacuons does not affect the

.21, You have

If a trader’s sales amount. to - |
‘Rs 18,000 and his gross profit

and net profit are 60% and 40%

"of sales respectlvely, which one

of the following are his expenses
if there is. no indirect income?

(a) Rs 7,200 . -
(b) Rs 2,500

() Rs 3600'_ |
(@ Rs 6,480

Whlch _one of the following

Balance Sheet totals?
(a) ‘Purchase of Rs
- supplies on credlt

(b) iPayment of Rs 30 OOO note
"'payable = .

| (c) Collectlon of Rs 40 000 from

debtors

(d) Withdrawal of Rs 8,000 by
owner '

. the mfoxmatlpn
that X Ltd has declared 40%

dividend. Which one of the

following does it actually mean?

-5 ""'n'(a) X Ltd. has declared 40% of

net profit as dividend

b X Ltd. has declared 40% of

profits after tax as dividend

() X Ltd. will give dividend @

40% on issued capital

‘(d) X Ltd. will give dividend @

40% on paid-up capital

———
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(@) 65,000%0
(b) 83,000 %o
(c) 68,000 %o

~ (d) 73,000Q %o
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22,

N

Consider the’ ft)ﬂomng

1. i’I“lxed Assets A

_} _.Investment
\'Current Assets _'ij )
Loans and Advances
Profit and Loss Account

M1scellaneous Expend1ture

Which one of the followmg is the
correct sequence of the above
items appearing in‘the asset side
of the Balance Sheet of a

.company. as per Schedule VI

Part—I o}” the Compames Act?

| (a) 1—2—3—4—5—6

' (b) 2-1 -5—3—4—6, | .

“{C) 2_\_1__3__5 6 * o

23.

17-B

e
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Given the following information
relating .to, bad: debts and

prowsmn for doubtful debts of a

concern dunng a penod

' Provision: for doubtful debts

on 1.1. 2010—Rs 6 000, Bad
debts  wriften’ ‘off during the
current year2010—Rs 1,200,
Total debtors as on 31.12.2010—

"~ Rs 80,000: ‘A ‘provision for

doubtful debts to be made @ 5%

24,

Which one of the following
amounts is to. be transferred to

-Profit and Loss Account?

{a)' Rs 5,200 Dr.

(b) Rs 800 Cr. -
(c) Rs 2,000 Dr.

(d) Rs 800 Dr.

Which of the following is/are

~actually forfeited in case of share

forfeiture?
1. Money already paid
2. Sha;e csrtiﬁcaitc

3. Share capital

Select the correct answer usirig

‘the code given below :

Code :

(@) 1 only.

(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

. ‘ .
.
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28, Match Listl -with List-l and

select.the correct answer using

the code' given below the Lists :

LlSt—I .
(Type of Fraud)

A. Suppression 1,
of receipts

.

B. Inflating 2.

_payments

C. Suppression 3.

of profits

D. Inflating 4.

“profits

Code :
2

(b) A
3
(c) A
d) A
2

~w oW AW AW

Listll
(Example)

Ma.kmg payments

agamst fictitious

voucher

Inflating the
value of closing

-stocle,

Not accouhtirig
for receipts

Chargmg items
of “capital hature

“to’ rrevenue
e'D
13
c b
1.2
C D
.4 2
C D
4 3

26. What is the correct secjﬁence of
the following aetipns: taken by an

auditor? :

1. Physical = verification  of
assets

2. . Routine checkmg

3. Preparing the  audit
programme

4. .Vouching

/17-B

10

Select the correct answer using-

the code given below :

- Code :

(@ 1-4-2-3'
(b) 2-1-4-3
() 3-2-4-1
(d) 4-3-1-2

Balance: Sheet audit is an audit

in which

~:{a)  Balance Sheets rorfha\num'ber

28.

of years are audited

(b) audit of financial statements
- is done

(c) audit is:done at the-" end of
 the financial year

(d) verification .of assets and
liabilities is done

In which one of the following
meetings, the. auditor of a
company has the right to attend?

(a) Every general meeting of the
shareholders ‘

i(b) Only ‘those meetings where

accounts - are being
- dlscussed
(o) Only annual gerleral

meetmgs of the company -

, @) Only those annual general

meetings in which the Board
of Directors wish to invite
him .

T

-
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. _statements : s
1. Law does not make it

"Who among the following can fill

a casual vacancy caused in a

company by way of res:gnatmn of

the auditor? | S

(@) Board of Directors

(b) Shareholders through!
general meeting

(c) Central Govcmment

(d) Comptroller and Auditor

General

Consider the

compulsory for a partner-
-ship firm te be registered.

2. A partner may be admitted

\‘"‘"’%dllowing

to partnership without any

‘capital contributien.

above is/are correct?
(@) 1 only
(b) 2 only - -

" (c) Both 1 'and 2

31,

(d) Neither 1 nor 2

Under which of the following

‘Which : of the' statements given

situations . must dxssolutlon of

partnership take place?

1. At 'the expiry of ‘the term

/7B

‘2. On the completlon of a

partxcular adventure

3. On death, msolvency or
retu'ement of a’'partner

* “"Select the correct answer usifig |

32.

(@

©

‘the code given below :

COde:

(a) 1, 2and 3
(b)*.»Swonl‘y
(c) 2 and 3 only |

(@) 1 and 2 only

Preincorporation
transferred to

profit is

(a) General Reserve
(b) Capital Resefve ;

(c) Profit and Loss Account

' (d) Trading Account:

33. Preliminary expenses are

‘ revenue expenses ‘-
(b) | "f:apita‘l' expenses
personal expenses

(d)

abnormal expenses
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35.

36.

37.

o

. Who is known as the father of

Book-keeping and Accountancy?
(@) J. R. Batliboi

(b) Carter }

(¢) Lucas Pacioli |

(d) T. S. Grewal

Which of the following is

Intangible Asset?
(a) Patent Right

(b) Prehmmary Expenses

(c) Cash in Hand
(d) Debtors

Which one of the followmg is
Current L1ab111ty‘9 '

(a) 8% Debenture

(b} 10% Preference Share Capltal
(c) Equity Share Capltal

(d) Outstanding Expenses

Under which
convention, the window dressing
is prohibited?

(a) Conservative convention

(b) Convention of full disclosure

(c) Conventron of cons1stency

d) Matchmg conventlon

accountlng :

14

378

Personal drawmg ~of' ‘the
propnetor is e

(a) Personal Account

(b) Real Aceeunt

NC Nommal Account

39.

(d) Representatlve Personal
: Account

Bank Overdraft Account is
(a) Personal Account

(i)) Real Aécourit’

" o) Nominal Account

- 41,

(d) Representatlve Personal
' S Account

Reahsatmn -Acgount is - .

(a) Personal Account -

(b) Nominal Account

-(¢) Real Account

(d) None of the 'above :

For rent payable, the correct
entry will be

.. (@) Rent:Afcis. . - .. Dr

. To Cash A/c '5\

(b) Rent Afc . Dr.
To Outstandlng Rent A/c

(c) f Outstandmg Rent Alc ..

(d) None of the above
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42. If closing stock'is given'in Bal

43,

Balance, then. Whege Wlll it be

shown?
(@) In Trading Abcoiht
(b) In Balan¢e Sheet

(¢) In  Trading: Wunt and
Balance Sheet

(d) In Profit and Loss Accoynt

How is Income Tax 'Ti\i':\ecefded?‘ |

(@) It is shéwn in thE debit side

44,

485.

-

of Profit and Loss Account

(b) ltis shown in the deblt side
of Trading Acéount -

(c) It is shown in the liability
side of Balance Sheet .0

(d) 1t is deducted from capital in
Balance Sheet

H (\‘“; LURRRS SEN ;> ,;3

Short-term ﬁnanmal pos;ﬁon will
improve w1th

sy thgy i ‘m‘

(a) increase in current assets
(b) mcrease in eurrent hamees

(c) decrease in current assets

(d) None of the aboye

Operating ratio.is . .,

‘(a). profitability ratio

(b): activity. ratio .+

(d) None of the ‘above '+

mx?’fx:- et

48, GFB"E&" &WW@@:@ meah§

(a) total fixeé assef

(b) tOtﬂTt:‘uﬁéﬁt‘ ‘gssets
(c) total net assets-.

(d) Noneof the gbove

47. Commonly?w%ﬁiéh * ratio- is

calculated in percentage?

* ) sProfifability xatio; .-

(b) Actmty Jatio e
(o) Financial posmon ratio

(d) None of the above &

NV SO
gr, R

48. Which of the following is not the

appheatxon of cash?

(a) Increase Jin outstandlng
SIS gy TORTITSTROS b

(b) Increase inyprepaid expenses
(c) ;Increase in. Inventory,
f 3)3"‘2 }i#«p gC‘ o

d) Increase in bills recelvable
g} T'i FE s

49. A and B are equalb partners. They

admit C by giving him % share
for wm l'g?A contnbutes 3 and B
confr?butes

sacrificing ratio wilt'be -

(a) 2;\1 ci“«vf R S

'10, then thelr

(b) 1 2 sovy Frr geryy oo
(C) 3 5 B T
d) 5:3

C penn

TR AT A N T ST g gD S AP B g

SO

B e

-




42.

43.

o i e ez & R g A,

o R wE R W

(a) R EE

(b) e Rz & |

() =T e e s fgr
(d) am-*srﬁ@mﬁ

Wﬂé@%&%mm%?

(@) R T ¥ ™ oo A
R s € |

(b)) ™ W|UR W F W U R

feaman < &
() T s frm % afe o §
fam s

| (d)?éaﬂmﬁaﬁﬁﬁ%m

a4,

Gn?n%

W@ﬁqﬁ?ﬁafﬁﬁrﬁw'@m
(a) m@wﬁfﬁqﬁgﬁ
B) TR d Ry

(o) e wER H R

@ sw AR

45. waTew FgA R

(a) mﬁmwaagqm
(b) forawfiern s
(©) YO GHAT AT

(d) SRR ANETE
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46. e fafriom g9 1 s ?

(o) T TR

47.

48.

(b) ¥ W wefeEl

© F@gawaREt

(d) e & B
e, Reg TgaTa Y o giiea
i ot st 47

(a) TIVETIE ST

(b) -forameficran s

(o) ferta Rt s

(@) g 3 &

Prefifer # @ BF-T Jws F W

B (A

() e =it & o

(o) e A o

49‘

e g A l@n B

(c) Tsf?ﬂ{ﬁqﬁg

'. () wﬁaﬁqﬁg

AT B % @ik §13 cw

i%%w%mmﬁm%%%
, Tk WO
F R, W I A A

@ 2:1 -
(b) 1:2
g 3:5
(d 5:3
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50. If average profit of the firm is

Rs 20,000, capital is Rs 1,00,000
and normal rate of return is

10%, then the amount of
goodwill by  capitalisation
method will be - -

(@) Rs 10,000

(b) Rs 20,000

() Rs 1,00,000
(d) None of the above

51. Interest is paya‘ble‘fdn*é_alls in
advance @ :

(@) 5%
(b) 6%
(c) 7%
(d) 8%

52. Public company cannot issue
(@) equity Sﬁqres .
'(b_) preferen'c;e‘ shéres
(c) deferred sharés

(d) None of the above

" 53. Vouchers should bé concerned
with ' :

(a) previous year

(b) current year

(c) both the years .
(d) None of the above

17

18

565.

56.

B4. Routine chécking is done

(a) by employees of the firm
(b) by the auditor

(c) by the management

" (d) by all the above

Under which Section of the Act,
the audit of a company is done?

(a) Section 233(3)
(b) Section 233(B)
() Section 233(C)
(d) Section 233(D)

Planning is for

- (a) past o

. (b} future .

57.

58.

‘(c) present
(d) All of the above

‘Function of leadership is

(a) risk taking

(b) deciSion-making

(c) business plahning
(d) All of the above

Social reéponsibﬂify of business
is '

(a) towards investors

(b) towards business

(c) towards community

(d) All of the above

Ao A




50.

51.

52.

AR v aftea @™ 20,000 %o, Yot
1,00,000 ¥ T AR FOE R
10% A, & Yo B ¥ s A
Tl grft

(a) 10,000 %o

(b) 20,000 §o

(c) 1,00,000 .‘{io

(@) SEwF AR K

i v <ty e 2 e

(@) 5% gz'a

c) 7% RNwR
(d S%ﬁatﬁ' |

' (@) GWaT I

(b) TR s
(c) Torfrera afw

(d) I & & H T

53. mmﬁammﬁq -

17

(@ T@add

(b) = S |
(c) ataf

@ i AP

19

- 54,

55.

57.

. 58,

(a) Ween 3 it g

(b) FEE W |

(c) Vo9 % g
(d) 3T |t & g

fufem A fra g & swta wf

=1 Ry iberor ar 87

(@) 9/ 233(A)

(b) € 233(B)
(c) €W 233(C)
(d) €@ 233(D)

S g @

(o) oI & fw

(b) wﬁwasﬁm'
(c) = % fere
(d) I aft

g FE ¢

(a) flam S

(b) ot Sk

(o) =t PeloH

(d) 3T® o

T 1 W S 8
(@) Favaiet Aoy

(b) =EE™ F Ul

() TEEHIR

(@) 3w wft
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59. The term -‘Fund’- as used in

60.

61.

62.

63.

17

Fund Flow Statement means
(@) cash e
(b) current assets’

() current liabilities

(d) current assets -current

‘liabilities

d

Whlch of the fonomng is hqu1d
asset?

(a) De‘btors‘
(b) Stock.
(c) Goodwill
(d) Furniture -

Which of the following is ideal
current "ratio?

_(a) 1:

1
(b) 2:1
© 1:2
d 2:2

Which of the following eXpenses
is not operating expense?

(a) Advertisement. .

(b) Finance expenses

() Salary |

(d) Losson sale of old furmture

Table ‘A’ is the substitute of
(@) Memborandum of Association

(b) Articles of Association

(¢c) Prospectus
(d) Minute Book

164

In a pnvate -company, Wwhat
should be the minimum number

N of Dmectors? ‘

65.

(@) 2

®) 3

(c) 4
(d) 5

Consumer Daspute -Settlement
Agencies are

(@) Distgct Forum

66.

67.

(b) State Commission
(c) National;com;mission
(d) All of the above

A speculator in the stock
exchange who expects the prices
of shares w111 mcrease is called '

(@) B
(b) Stag
(c) Bear .
(d) Lame tluc;k T

Liabilities. and Assets are
Rs 87,000 and Rs 92,000 respec-
tively.:: -‘Amount. -of ~difference
will be

(a) creditors

(b) debentures’

‘(c) profit

(d) capitak-:
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L haias m’z
(a) f(ar\g , A Gy
(b) mmﬁﬁ HoM e
(c) S o

@) a@vﬁﬁ mmﬁa

60, THHkd

61.°

62.

63.
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68.

69.

70.

71.

72.

/7

(@) None of the above

Patent nght 1s an example o
(a) fictitious assets

(b) intangible assets >

(c) current assets

(d) fixed assets

When a partner © becomes
insolvent, loss on realisation is
distributed among.partners i m
(a) equal ratio

(b) capital ratic | .
(c) profit-loss ratio - . -

O
J

L

In the absenge: of -partnership

deed, the duties and rights of the
partners are determmed

(a) by partners 'éhemselves
(b) with mutdal consent
(c) under Partnershlp Act
(d} by court

Company is an artlﬁcml “person

and is formed by .-

(c) Nature o
(@ Law SR s

The Consumer ?z:qtecugn Act
was passed in =

(a) 1786
(b) 1886 S,
(c) 1986 o
(d) 1996 e

22

3.

Regional Ofﬁce‘ 6f SEBI
situated in

(a) Delhi

() Kolkata

(c) Chennai ..
(d}+All of the above

74 Supervxsxoﬁ is ‘ah ‘elemerit of

76

- 11

(a) leadershlp
(b) planning

() direction

(d) None of the above .

78 The ‘fathier of Scmnhﬁc Manage-'

ment is

(@) Gilbreth

(b) Tayldr

(c) Robertson

(d) E. F. L. Brgci'i '

. Which of the following is a

wasting asset?
(@) Coal Mines
(b) Fumniture
{c) Goodw111
(d) Cash

Continuous audlt is su1tab1e for
(a) big mstitutxons

(b) small mstxtutlons

(c) general institutions

(d) None of the above

A RN ol A




68.

69.

70.

71.

YRR U JETET
(a) FAMS TRy H
(b) ¥ w1
(c) e WP
(d) e g
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(a) W I &
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(a) WTRERE F TR |

(b) i wHfe & |

(c) u@mmﬁw%ﬁw "
(d) =™ T

m@i?ﬁqwﬁﬁ%mﬁﬁw

g R
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- 72.

(a)

(b)) IMF W

(c) R % 7
(d) e % g

St den s i T
1786 4 . -
1886 #.
1986 ¥
1996 ®

(b)
(c)
(d)

23 -

73.

74.

75.

ﬁaﬁwéﬂamﬁa@m%f
o R -
(b) BT H

() JFH

(@) SEww

ECEUL RO R
(a) g

) FRSRw.
(c) Rém =

(@) IHEIITE A
Afaes waey & < 8
@ Fedw

(b) T

(g T

76.

77.

@ do To T 3

frfeen § @ - e wh 27
(@ PRAREH

(b) AR

(c) Tt

@

fiee SiE SEH AR

(@) o densit ¥ R

(b) O wEs F R

(c) W densd ¥ g

(d) SHFRINETE
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78.

79.

80.

@

810

17

(b

Pufchased e machmery ~for
Rs 1,000 but debited to Purchase
Account is,

(@)
(b)
(c)
(d)

clerical e'rror -
error of pnn01ple
compensatmg error

None of the, above

:;;.s;

Who propounded Double- -entry

System? -

(a) Lucas Pacioli )
(b) Spicer- and Peglar '
(c) Batliboi -

(d) None of them

The main object of msurance is
(a) proﬁt earmng "
'mvestment

()

1ndemn1ty

»None of the above ‘

Basic assumptions or concepts
of accounting system consists of

(a) Money measurement concept

(b) Dual aspest concept

(c) Going-concern:.coneept
(d) All of the above .

24

82.

83,

(o

- (d)

84.

85.

Qutstanding expenses appearing

in the Trial Balance are shown in
(a) Profit and Loss Account only
(b) Balarice Sheet only

(¢) Both (a) and (b)

(d) None of the above

Which of the followirig items will
not'appear in the Balance Sheet
of a club? - :

Subscnption '

(a) received in
advance
(b) Donatlon recelved dunng the

year B
Entrai‘xce' fees paid by the
new members

Subscnptlons relating to
previous ' year, collected
dunngc the year -

Prowsmn for bad and doubtful
debts appea*ring at the time of
dissolution of the firm s
transferred to ' '

-Sundry Debtors Account
Reahzauon Account
Capital ~Accounts
partners .

Any of the above accounts

) | |
() of the
(d)
The diﬁ'erence between subscribed
capital and called-up capital is

@)

paid-up capital
calls-in-arrear -

(@)
(b)
(c)

calls-in-advance
uncalled capital
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83.
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. 87.

Current ratio is calculiited tod
(a) compare the current assets
with past assets ..

(b) compare the current assets
with fixed dssets  ~ ,-
(c) measure the liquidity of the
' concern.

(d) assess overall sblvency of the

Which one bf "the ?’fc;‘ilovi}ing has

the right. to get. payment of

dividend dunng the hfe-tlme of
.the company?

- .{a) Equity Share Capital.

S
88-

~ tion payable

89.

17

“The

(b) Debenture. Holder
(c) Preference Share Capltal
(d) Promoters

‘The total managenal remunera—
by a’ _ public
company to' ‘its threctors and

manager, in respect of any
financial year sha]l not exeeed '

(@) 10% /

(b) 1% iy ¢ .
(c) 9% '

[d) 15%

~ assets wh;ch ce.n be
converted into cash’ w1th1n one
financial period are.;

(a) current assets...
(b) fictitious asset -
(c) fixed assets
(d) tangible assets

- 90.

91.

"(b) Conversion

Debenture 'is

(a) asset’ v
(b) short-term hab1hty ,
(c) long-term liability

{(d) capital expenditure

State which of the following
transactiong would result in use
of funds. ‘ '

(a) Payment to creditors
“of” preference
shares into equity shares

() Repayment of long-terrn loan

- {d) transfer of proﬁt to general

92.

93.

reserve

Sometimes an - auditor is’
requested to write up the books
of accounts of his client from the
records and documents as are
produced to him. If he acts that
way _

(a). he is an auditor

(b) he is an accountant

(c) he is an auditor and an
" accountant beth

(d) None Oi,f..;;thé.<above

An audit programme is a written

scheme to be followed duringithe

course of audit and is:prepared

by ’

(a) the atditor -

(b) the officials of the organisa-
tion concerned

(c) the income tax department :

(d) the representatives of the
workers of the organisation
concerned ¢choseh at random
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87.
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94, The sole propnetors}ﬁp ﬁ':rrn “of
business has ey

(@) umitéé"’fiaﬁiu@i L3

@ ?’?giSfcred;ggpi@r'"‘ﬁ-‘.' o

(d) freedom to quit the business
any moment: %

95. In  any.. partnerahsp (except -
engaged in banku'xg busmess), v
“the * maximium number of .

) partners is lmuted ﬁo
e
:_,_(b) 15 .

@

96. The amount tobe givén nto a
. retiring partner inchides

(b) his share in . 's ’goodwill'

"7 {¢) “his share 0 !:mdistnbuted.

profit orJoss. apd unutilized
_ Teserve fund . -

g
(ISR

'(d) All of the above

[

97. Where at least 51% shares aren
.. the hands of Government, it is
called-

. () que;:nmer‘:‘t‘Company
: (b) Statutory Corporatien
(c) Public Limited Company
(d) fDepartxhentan~ Organisation

98. Degree of moral hazard is more
'1n case of

(a) Fire Insufai}ee
(b) Life Insurance
(c) Marine Insurance

(d) Motor Insurance

99, The term MBO- (Management by

- _Objectives) was coined by
© (a) Petef F‘E;'Di'ueker

(b) F. W. Taylor

(c) Henry Fayol ’

(d) None of them |

100. The most modern system of -

o -filingis - = : FRE
(a) vertical filing =
_ (b) horizontal filing.

(c) pigeon holdmg or docketing
filing ’

(d) box filing

T
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96.
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(o) wifim afiT
(b) ‘Hﬁ‘ﬂ‘ﬁm
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wEsa
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T Bt B

(@ 10

(b) 15

(c) 20

(d) 25

- W el e aff d g
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) tpwhm

98.
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(d) ﬁwﬁﬂm

ﬁﬁ%sﬁma‘aﬁmmmg

(a) Hfﬁaﬁm%ﬁﬁﬁ

) ?ﬁﬁ?iﬁm%zﬁﬁﬁ

- V@m‘%aaﬁi

929,
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(@) W THo FW A

100.

(b) ‘I‘FO'M o ¥
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(@) wdwmRm
, (b) %"rtms%m
'(c) W@mmma@q
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